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Large Numbers Class 4 

 

 

 

            Worksheet 

Grade 4 - Mathematics 

Chapter 3 – Money 

A. Answer the following questions. 

1) Add 

a. ₹ 59.75 + ₹ 281.35  b.  ₹ 94.75 + ₹ 159.55    

2) Subtract 

a. ₹ 100 - ₹ 69.75   b.  ₹ 278.34 - ₹ 125.76  
3) Multiply 

 a. ₹83.45 by 5   b.  ₹212.45 by 9  
4) Divide 

 a. ₹306.30 by 3   b.  ₹468.24 by 4  

5) Solve 

Look at the prices of the toys in a toy shop and answer the following 

questions. 

  

B. Fill in the blanks. 

   a.  14 rupees 96 paise = ₹ ______________ 

   b. 55 paise = ₹ ______________ 

   c. 129 rupees 76 paise = ₹ ______________ 

    d. 46 rupees 34 paise = ₹ ______________ 

C. Solve 

a. Mohit purchase the book worth ₹ 235.75 and some stationary costing ₹ 65.75.Find the 

total amount spent by Mohan.  

b. Mohan had ₹ 5698.66 in his bank account and Sohan had ₹4568.95 in his bank account. 

Who had more money and by how much?  

c. If the cost of one ball is ₹ 67.45, find the cost of 35 such balls. 

d. If the cost of 25 pairs of trousers is ₹7881.25, find the cost of one pair of 

trousers. 


